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> for x in r‘ange(s 8):
3 print(x,end=" ")
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»>> %Run -c $EDITOR_CONTENT
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for a in range(l, 10): >{a*b Zd}
for b in range(l, 10):
rint(f'{a}x{b}={a*b}’, cnd— ")
¢ ERBSETS  HEESEOFSE  BEME ena="
print('")
# ABEEEBTERRE 3T print (') SBTET
>>> %Run -c $EDITOR_CONTENT
OEofJIooaI'é N
1xl= 1 1x2= 2 1x3= 3 1x4= 4 1x5= 5 1x6= 6 1x7= 7
2x1l= 2 2x2= 4 2x3= 6 2x4= 8 2x5=10 2x6=12 2x7=14
3xl= 3 3x2= 6 3x3= 9 3x4=12 3x5=15 3x6=18 3x7=21
4dx]1= 4 4x2= 8 4x3=12 4x4=16 4x5=20 4x6=24 4x7=28
S5xl= 5 5x2=10 5x3=15 5x4=20 5x5=25 5x6=30 5x7=35
6xl= 6 6x2=12 6x3=18 6x4=24 6x5=30 6xX6=36 6x7=42
Txl= T Tx2=14 7Tx3=21 Tx4=28 7Tx5=35 T7x6=42 7x7=49
8xl= 8 8x2=16 8x3=24 8x4=32 8x5=40 8x6=48 8x7=56
O9x1= 9 9x2=18 9x3=27 9x4=36 9x5=45 9x6=54 9x7=63
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1x8= 8
2x8=16
3x8=24
4x8=32
5x8=40
6x8=48
7x8=56
8x8=04
9x8=72

1x9= 9
2x9=18
3x9=27
4x9=36
5x9=45
6x9=54
7x9=63
8x9=72
9x9=81
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>>> %RL

oFoIfoodf A ‘
1x1= 1 2x1= 2 3x1l=3-4x1= 4 bxl= 6x1l= 6 Ix1= ¥ 8xl= 8 9x1= 9

1x2= 2 2x2= 4 3x2= 6 4x2= 8 5x2=10 6x2=12 T7x2=14 8x2=16 9x2=18
1x3=-3 2x3= 6 3x3= 9 /4x3=12 5%3=15 6x3=18 7x3=21 8x3=24 9x3=27
1x4= 4 2x4= 8 3x4=12 4x4=16 5x4=20 6x4=24 Tx4=28 8x4=32 9x4=36
1x5="5 2x5=10 3x5=15 4x5=20 5x5=25 6x5=30 7x5=35 8x5=40 9x5=45
1x6= 6 2x6=12 3x6=18 4x6=24 5x6=30 6x6=36 7x6=42 8x6=48 9x6=54
1x7= 7 2x7=14 3x7=21 4x7=28 5x7=35.6x7=42 7x7=49 8x7=56 9x7=63
1x8= 8 2x8=16 3x8=24 4x8=32 5x8=40 6x8=48 7x8=56 8x8=64 9x8=72
1x9= 9 2x9=18 3x9=27 4x9=36 5x9=45 6x9=54 7x9=63.8x%9=72 9x9=81

9x1= 9 8xl= 8 7TXI="7 6X1= 6£6x1="5 4x1= 4 3x1=-3!2x1= 2 1xl1=
9x2=18 8x2=16 Tx2=14 6x2=12 5x2=10 4x2= 8 3x2= 6 2x2=,4 1x2=
9x3=27 8x3=24 Tx3=21 6x3=18 5x3=15 4x3=12 3x3= 9 2x3="'6 1x3=
9x4=36 8x4=32 Tx4=28 6x4=24 5x4=20 4x4=16 3x4=12 2x4= 8 1x4=
9x5=45 8x5=40 7x5=35 6x5=30 5x5=25 4x5=20 3x5=15 2x5=10 1x5=
9x6=54 8x6=48 Tx6=42 6x6=36 5x6=30 4x6=24 3x6=18 2x6=12 1x6=
9x7=63 8x7=56 Tx7=49 6x7=42 5x7=35 4xJ]=28 3x7=21 2x7=14 1x7=
9x8=72 8x8=64 T7x8=56 6x8=48 5x8=40 4x8=32 3x8=24 2x8=16 1x8=
9x9=81 8x9=72 7x9=63 6x9=54 5x9=45 4x9=36 3x9=27 2x9=18 1x9=
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